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Name: ______________________ 
 
Compare the math problems under each football helmet.  Which 
problem’s answer is higher? Award the points (between to the two 
problems) to the team with the problem with the higher answer. 
Calculate the final score to determine which team wins. 
 
Example: 
Steelers  Ravens 
4 + 3 = 7 Award (3) Points 5 + 4 = 9 
Because the problem under “Ravens” has a higher answer than the 
problem under the “Steelers,” 3 points are awarded to the Ravens. 
 

 

Which team has 
the problem with 

the higher 
answer? 

 
Pittsburgh Steelers  Baltimore Ravens 

9 + 2  Award (3) Points 5 + 5  
13 – 7  Award (6) Points 14 – 6  
26 – 18  Award (3) Points 28 – 19  
32 + 19 Award (3) Points 28 + 22  
83 - 44  Award (2) Points 67 – 38  
8 x 8  Award (6) Points 6 x 9  
37 + 57 Award (3) Points  66 + 29  
95 - 77  Award (7) Points 84 - 69  
4 x 9  Award (2) Points 6 x 7  
92 - 14 Award (3) Points 45 + 36  
 
Final Score:  Steelers ___________  Ravens ___________ 


